AP Calculus AB Name:
Unit 1 — Day 1 Assignment
Numerical & Graphical Approach to Finding Limits

Below are tables of values for given types of functions. For each table, the type of function represented
by the table is given. Use your knowledge of the numerical behavior of each type of function to find the
indicated limits. For limits that do not exist, write D.N.E.

1. Exponential Function

X -7 —4 -1 2 5 8 11
Hi(x) -125 -13 1 2.75 2969 | 2996 | 2.999
a) lim H(x)= b) limlH{x}= c) lim H(x)=

2. Rational Function
X -1000 | -2.001 -2 -1.999 | 0.999 1 1.001 1000

G(x) | 0.998 | 0333 | Undefined | 0333 | 1999 | Undefined | 2001 | 1.002

a) lim G(x)= b) lim G(x) = ¢) lim G(x)=
X—— r——2" r—s—27

d) lim G(x)= e) lim G(x)= f) lim G(x)=
X—— =" =l

g) 1]'1-[}(;(1}: h) Im G(x)=

3. Rational Function

X —10000 | 0.999 1 1.001 3.999 4 4.001 10000

Hix) 1.9999 | -2.331 | Undefined | -2.335 | -12998 | Undefined | 13002 2.001

a) lim Hx)= b) limlH[x}= c) lim H(x)=

x—4

d) jL‘l_lﬂl_ Gix)= e) lﬂ(:{_r}=



If they exist, determine the indicated values below each graph. For limits that do not exist, write D.N.E.

4. The graph of h(x) is given.
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a) lim hix) = b) lim h{x) =
x—l" x—lt
c) limlff{x)= d) hil)y=
e) hi-2)= ) ]imzﬁ{x}=

6. The graph of fix) is given.
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B limf()= b lim f(x)=
c) lm fix)= d) lim fix)=
== x—l
¢) lim f(x)= f) lim f(x)=

x—l"

5. The graph of g(x) is given.
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a) lim g(x)= b) lim g(x)=
x—0" =1t
c) lim g(x)= d) lim g(x)=
e) g(4)= f) limg(x)=
7. The graph of g(x) is given.
D e

—-E—-S-—-!—-S—-:./—l_ 1 1 3 4 4

.-':-\
"

) ling)= b limg(x) =
c) _'!f:iij-[;q{x}: d) rEnjq?[I]=
e) g(-3)= f) g(4)=



Given the graph of the function, g(x), below, determine if the statements are true or false. For statements
that are false, explain why.

B lim g(x)=2
x 3]

9. lim g(x)exists for every value of ¢ on the interval (-1, 1).
X=rC

10. lim g(x)does not exist.
x=2

Sketch a graph of a function that fits the requirements described below.

1. lim f(x)=3 lm f(x)==1 Al)= [12. lim f(x)=-» lim f(x)==

x=»1" x=1* x—p=2" x——2"
1 f(2) is undefined but  lim f{x)exists.
x—32

t t t
-3 =1 =1 1

-]

13. Inexercise 11, does lim f(x)exist? Explain why or why not.
x=+l



